Multiplicar Tres Polinomios (G)

Simplifique cada expresion.

(ST = TENOF = TG + 21

2. (3n + 4)(—6n° 4 3n*)(2n* + 5n)

(=T B3 (=0 — b7)(4b® — D)

o

(P =2 (= Ty" = 5y°) (=9 + 6y°)

W

5 (=8y° — 4y (—4y — 1) (y* + 8y)

MatesLibres.com




Multiplicar Tres Polinomios (G) Respuestas
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Simplifique cada expresion.

(TP = TENOF = TF)6F +2fY)

= —378f1% — 210" + 266 f1 4 98 f1°

(3n 4 4)(—6n° + 3n*)(2n* + 5n?)
= —36n"" — 120n" — 51n® + 60n"

(=70 4 ) (—bP — 1) (4b* — Tb)

— 2807 — 25b% — 46b" + THS

(P =207 (= Ty* = 5y*) (=9 + 6y°)

= 63yt — 123y — 36y" + 60¢°

=8y’ — A4yt (—4y — T) (v’ + 8y°)

= 32 + 328y° 4 604y " + 224y/°
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